## INDIAN INSTITUTE OF TECHNOLOGY (INDIAN SCHOOL OF MINES) DHANBAD ASSET REPORT

## Academic Buildings/Admin/Labs/Library/ Workshop

S1. No.	Academic Buildings/Admin/Labs/Library/ Workshop	Area in sqm
1	Academic Complex (G+6)	33578
2	New Central Library	21260
3	Old Library Building	1500
4	Central Research Facility (G+7)	13115
5	Centre of Excellence	15552
6	Main Heritage Building	6000
7	Old Lecture Hall Complex	5100
8	New Lecture Hall Complex	11707
9	New Workshop Building	1550
10	Old Workshop Building	2600
11	Long Wall (MM)	1200
12	Environmental Science Building	4800
13	Computer Science Engineering	880
14	Management Studies Building	1100
15	Fuel and Mineral Engineering Building	2700
16	Mechanical and Mining Machinery Engg. Building	2700
17	Science Block Building	1300
18	Administrative Block	1500
19	Petroleum Engineering Building	11707
20	Applied Geophysics	375
21	Golden Jubilee Lecture Hall Complex	800
22	NCC	650
23	ISL Building	1026.15
24	T.O.P	100.23
25	Shanti Bhawan	400
26	Vertical Extension of Science Block	1183

S1.No	Academic Buildings/Admin/Labs/Library/ Workshop	Area in sqm
27	Vertical Extension of Management Studies	375
28	Vertical Extension of Computer Centre	620
29	Vertical Extension of Fuel & Mineral Engg. Dept.	1100
30	Vertical Extension of Petroleum Engg. Dept.	1220
31	Vertical Extension of Environmental Science & Engg.	1173
32	Annex building of Petroleum Engg. Department	11707
	Total Area	160578

## Residential Area- Hostel/Faculty/Staff/Qtrs

S1. No.	Residential Area- Hostel/Faculty/Staff/Qtrs	Area in sqm
1	Jasper Hostel	35808
2	Emerald Hostel	2400
3	Amber Hostel	9604
4	Amber hostel (Pkg-1 & 2)	21972
5	Topaz hostel	3000
6	Sapphire	6500
7	Opal	2400
8	Diamond	3200
9	Rosaline	10701
10	Ruby hostel	900
11	Ruby Annex	1200
12	Ruby New	1300
13	Senior Academic Hostel	1800
14	EDC Building	1250
15	Extension EDC	230
16	Scolomin House	530
17	Registrar Residence	250
18	Type V (48 Qtrs) 130.98 x 48	6287.04
19	Type V (UGC) 142.52 x 20	2850.4

S1. No.	Residential Area- Hostel/Faculty/Staff/Qtrs	Area in sqm
20	Type V (E Type) 100.01 x 20	2000.2
21	Type V (Bungalow) 131.61 x 6	789.66
22	Type IV Special 118.63 x 150	17794.5
23	Type IV (Old D) 65.44 x 40	2617.6
24	Type IV (C/02) 57.37 x 12	688.44
25	Type IV (ND) 52.56 x 12	630.72
26	Type IV (C-Old) 65.00 x 8	520
27	Type IV (Bungalow) 135.85 x 3	407.55
28	Type III 45.83 x 56	2566.48
29	Type II 44.00 x 86	3784
30	Type II (H-Type) 38.45 x 24	922.8
31	Type II (Converted) 45.50 x 12	546
32	Type I (Old G) 26.62 x 17	452.54
33	Type I (Type I) 18.03 x 24	432.72
34	Type I (New G) 30.19 x 19	573.61
	Total	209792

## Sports Facility & Common Facilities

S1. No.	Sports Facility & Common Facilities	Area in sqm
1	Student Activity Centre	10520
2	Swimming Pool	2400
3	New Health Centre	2844
4	ISM Staff Club	3685
5	Durga Mandir	1650
6	Squash Court	300
7	Post Office	350
8	Sports & Physical Education	1000
9	GJLT	800

S1. No.	Sports Facility & Common Facilities	Area in sqm
10	Admin Building	1500
11	Scolomin Club	170
12	Shed1	650
13	Shed 2	300
14	Dining Shed	230
15	Car Garage	600
16	Car Parking	600
17	Water Tank	176
18	Car Parking	680
19	Canteen	320
20	Store	350
21	Garage + Shed	375
22	Sub station	1155
Total		30655